N & o & AF & H Al A
20188 &= = 0ll&F LB H AlRIASA
SN ANASA
M ASHHH
el AlDIAS CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AN LS A 9,763,249 7,879,999 1,883,250
ASHEFRE 54,000 89,150 A35,150
NS 54,000 89,150 A 35,150
ANUAS A2} 54,000 55,150 A 1,150
201 L2l 20,000 23,000 A 3,000
01 At 22l 20,000 23,000 A 3,000
OY &AL 2E3 o (Aster] 23])
10,000, 000& *23| 20,000
202 oddl 26,000 0 26,000
01 = LH o4 1l 26,000 0 26,000
OAHHE2=T bl 26,000
203 YR =] 8,000 8,000 0
03 A=A H =AY 8,000 8,000 0
OFENE ge=2 8,000
MEQIRX el 262,209 262,209 0
MEDIA HelAtd 262,209 262,209 0
12083 S MU 2 12,000 12,000 0
201 Let24dH] 12,000 12,000 0
01 At 22/l 2,000 2,000 0
OO0 8Z8JE I=4l
100,000& »10H »23| 2,000
02 =24l 10,000 10,000 0
ORFSAN 2EXE SAHl 10,000
HOototl= LA 250,209 250,209 0
101 @144 Hl 18,049 18,049 0
04 JIZHHZ2XREES 18,049 18,049 0
OUsddEs 101, 7402 x2H 60 12,209
Oti22 89,9703 60 5,399
O4tgels Al & DEEE
17,607 ,000& *2. 5% 441
202 O4dl 5,000 5,000 0
01 = LH YI 5,000 5,000 0
OXIAIALE, #0iot= S&0d FZ 5,000
206 M= Hl 25,000 25,000 0
01 =8l 25,000 25,000 0
OO0t &AM B4 MM (308) 25,000
301 et a3z 2,160 2,160 0
MIEE43 2,160 2,160 0




2A: Al
Mo MEUATe
Al

Sl MBOIA HMelAtY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OOt BHLUF SAX &5 243
5,000& »3H 60 900
OO0t BHUF SALR S 44l
7,000& x3E +603] 1,260
401 Al HI R 201 I 200,000 200,000 0
01 A& HI 198,560 198,560 0
OMEUA HelA 200,000,000& *99.28% 198,560
03 A& =TI 1,440 1,440 0
OMEDRIA XMl A 200,000,000& *0.72% 1,440
Kl SO0 & 9,033,000 7,454,000 1,579,000
KIS0 2 A 2t 2l 9,033,000 7,454,000 1,579,000
AAIF=AAS 2] (KA 9,033,000 5,980,000 3,053,000
401 AIEHI L 2 CHYI 7,171,000 4,706,000 2,465,000
01 A& HI 7,109,720 4,654,221 2,455,499
o=2=s 364,030
JHaE ot THEE Z AL
15,000, 000& *98.92% 14,838
=& =2 ZFHISA
20,000,000& *98.92% 19,784
HH ot FHISAL 30,000,000 x98.92% 29,676
A etz HHIZA 18,000, 000& *98.92% 17,806
APE Ob T E A T AL
15,000, 000& *98.92% 14,838
SH oY WERDA
16,000,000& *98.92% 15,828
Me etz IEHIAL 30,000,000 *98.92% 29,676
Mot et THEZZZ At
12,000, 0002 *98.92% 11,871
TE 0L HEITA
21,000,000& *98.92% 20,774
A oL T EZ A
15,000, 000& *98.92% 14,838
ts ot THEEZ A
15,000, 000& *98.92% 14,838
el ot MEE B A
15,000, 000& *98.92% 14,838
A1 =2 FHIS AL 9,000,000 *98.92% 8,903
dE ot MHEZ S A
12,000,000 *98.92% 11,871
HI& ot THEZE I A
15,000, 000& *98.92% 14,838
Sh&l ot THEZ S A
12,000,000& *98.92% 11,871
A48 Hi+=2 FHISA
20,000,000 *98.92% 19,784
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A NEHY
el XA 2e]

SA-3H-S(3AH) - MRAS - BES Off &t 24

S4 O Z MEZZA

30,000, 0002 +08. 92% 29,676
U o HEITA

15,000, 0002 =98, 92% 14,833
e MYz ZEITA

18,000, 000% *98. 92% 7,806
W B2 FHISA

15,000, 0002 =98, 92% 14,833

OF &0l 252,246

52 TYZ HHITA

20,000, 0002 +98. 92% 19,784
DE Y GARTHTA

20,000, 0002 +98. 92% 19,784
@4 o2 JHIBA  20,000,000% <98.92% 19,784
oW 012 OARTHEE T A

20,000, 0002 +08. 92% 19,784
AEE WYR HEFTA

20,000, 0002 <08, 92% 19,784
SR o HIBA 20,000,000% +98.92% 19,784
tF o2 MZBZA 20,000,000% <98.92% 19,784
#H O OPARITZBA

20,000, 0002 +08. 92% 19,784
OT ot OIAREZBA

15,000, 0002 *98. 92% 14,833
TR AYR HFBA

20,000, 0002 +08. 92% 19,784
g% oL TFBA 20,000,000% «98.92% 19,784
StE EXE FHIBA

20,000, 000%! +08. 92% 19,784
OB MYR OARTITA

20,000, 0002 +08. 92% 19,784

O+X & 207,734

2E O OPARIZBA

12,000, 0002 x98. 92% 11,871
DI oL ABXP FHIZM

25,000, 0002 +08. 92% 24,730
0lE SHES OIAZEIBA

10,000, 0002 x98. 92% 9,892
HE= ASX T FUIZA

15,000, 0002 x98. 92% 14,833
T SHY OIARTHEA

20,000, 0002 +08. 92% 19,784
Z2l oL EFBA 15,000,000% «98.92% 14,833
SEDISOY HITZBAM

12,000, 000% *98. 92% 11,871
D oY 24 WEBA

10,000, 0002 =98, 92% 9,892
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NS o O AEREEA

20,000,000& *98.92% 19,784
2&E ot A KT ZHISA

25,000,000& *98.92% 24,730
MY ot OtAZZEHIA

20,000,000& *98.92% 19,784
Otg MYZ OtAZEEIAL

16,000, 000& *98.92% 15,828
dE 28J17 &X3At

10,000, 000& *98.92% 9,892

OssH 126,619

Es22Y =2 ZFHISA

10,000, 0002 *98.92% 9,892
&8 ot ZHIZB A 20,000,000 *98.92% 19,784
S 2HFW EIFTM

21,000,000& *98.92% 20,774
ME OHY ZTEHIA 9,000,000& *98.92% 8,903
So ZEFY ZHSA

15,000, 0002 *98.92% 14,838
A S JYZ ZHISA

20,000,000& *98.92% 19,784
SUOIY L 42 FHuIBA

18,000, 000& *98.92% 17,806
X EFEFYH T SA

5,000, 000& %98.92% 4,946
CHH 2l&tF=E X I A

10,000, 000& *98.92% 9,892

OFdd 173,110

LS =2 ZHI3A

10,000, 000& *98.92% 9,892
S0 ™A XS A

10,000, 000& *98.92% 9,892
o= g2d8s L FHSA

10,000, 000& *98.92% 9,892
Vs TEXHD BZ L oY FUIBA

35,000,000& *98.92% 34,622
QOIS &2 FHIZ A

20,000,000& *98.92% 19,784
ME, MO BtaE ZATA

10,000, 000& *98.92% 9,892
THOIS oY HEZBA

15,000,000 *98.92% 14,838
AS0IZ o2 OlARERZT

20,000,000 *98.92% 19,784
A0S St EHISA

20,000,000 *98.92% 19,784
ZE0tS o2 HHISA

10,000,000 *98.92% 9,892
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SE0s o2 FOi=A

15,000, 000& *98.92% 14,838

O3X¢ 173,110

=& ot FHIBA 25,000,000 *98.92% 24,730
A =2 FHUISA

25,000,000& *98.92% 24,730
LS =2 FHISBA

15,000, 000& *98.92% 14,838
gE =2 ZFHIBA

20,000,000& *98.92% 19,784
a4l ot FHIZS AL 15,000, 0002 *98.92% 14,838
S FXE THBA

20,000,000& *98.92% 19,784
EHE otz HHIZA 15,000, 000& *98.92% 14,838
2 M ot FHIB A 20,000,000 *98.92% 19,784
HE Bi=2 EHISA

20,000,000& *98.92% 19,784

onzd 260,165

SBHE SUAEXNT SHEL S A

18,000, 000& *98.92% 17,806
S8 Y2 HETZTA

12,000,000& *98.92% 11,871
QD S 2ABE ZHSA

12,000,000 *98.92% 11,871
&E ot HHIZ A 10,000, 000& *98.92% 9,892
AE OH OFAZTHEE S AL

12,000, 000& *98.92% 11,871
UM 012 HTITA

15,000, 000& *98.92% 14,838
MAL OF2Z OFAZTHIE & S AL

12,000, 000& *98.92% 11,871
=& ZEFY FUISA

20,000,000& *98.92% 19,784
YooY HARFY L HEHTM

17,000, 000& *98.92% 16,817
AE 01U OLARTYEE DA

12,000, 000& *98.92% 11,871
2 ot HHIZA 15,000, 0002 *98.92% 14,838
Z2d AUZ HHISAM

14,000, 0002 *98.92% 13,849
A Y2 EHILHETA

18,000, 0002 *98.92% 17,806
HE ot OtAZHEZE IS A

10,000, 0002 *98.92% 9,892
CHXl o+ OtAZTHEE B AL

12,000, 0002 *98.92% 11,871
e ot OtAZTHEE IS A

15,000, 0002 *98.92% 14,838
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PA Sl 2t 2 E OLAZTHEE S AL
20,000,000& *98.92% 19,784
Yy otz SUASEXN T ZHISAM
19,000, 000& *98.92% 18,795
OtHatH 198,831
OtCH &I =X E ZFHISA
18,000, 0002 x98.92% 17,806
SDHE HE BYIA
36,000,000& *98.92% 35,612
20 ot EHE U SHEBM
25,000,000& *98.92% 24,730
EE ot MEZSAM
18,000, 0002 *98.92% 17,806
2 ot HEEBA
30,000,000& *98.92% 29,676
= Sl OLAZEZESAM
20,000,000& *98.92% 19,784
AE Y HE SZ2EIIA
4,000,000 x98.92% 23,741
22 oY WEEHBA
30,000,000& *98.92% 29,676
OAMOHE 136,510
olst ot OtAZTHEE ZAL
18,000, 000& *98.92% 17,806
StE otZ OLAZHEE S AL
20,000,000& *98.92% 19,784
AE 02 OLARTHEEBA
20,000,000& *98.92% 19,784
CHat 222 & ZE A
20,000,000& *98.92% 19,784
A4l or2 OFAZTHEZE S AL
20,000,000& *98.92% 19,784
SHEO2Y AEZUIBA
20,000,000& *98.92% 19,784
ZE ot OFAZSTHEZE S AL
20,000,000& *98.92% 19,784
OcDel 164,208
A= etz HHIZAE 20,000,000 *98.92% 19,784
sd ot FHIEAL 20,000,000 *98.92% 19,784
2E == FHISA
18,000, 000& *98.92% 17,806
N N2 Y SEAZA
30,000,000& *98.92% 29,676
S ot FHIE AL 20,000,000 *98.92% 19,784
Z4b orZd FHIEAE 20,000,000 *98.92% 19,784
&6 REH Y oHZ FHISAM
18,000, 000& *98.92% 17,806
B &F v HHIZ A 20,000,000 *98.92% 19,784
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OE&H 141,458
&= ot ZTEHIA 15,000, 000& *98.92% 14,838
SES 02 OAREF L HIHTA
14,000,000& *98.92% 13,849
Ay Y=z OLAZEEIAL
17,000,000& *98.92% 16,817
QU ot OPAREIIA
10,000, 000& *98.92% 9,892
2 oY OIABEHBA
13,000, 000& *98.92% 12,860
HE o OLAREEZ A
20,000,000& *98.92% 19,784
2 oY OfAREETA
14,000,000& *98.92% 13,849
WE OY OIAREEZA
14,000,000& *98.92% 13,849
Mg ot OlAZEEBA
15,000, 000& *98.92% 14,838
SE 42 OAZEZEZSA
11,000, 000& *98.92% 10,882
ousH 142,447
2= oY MEFYITA
23,000,000& *98.92% 22,752
S& =2 ZHISAM
10,000, 0002 *98.92% 9,892
fE &8 ZHISA 15,000, 000& *98.92% 14,838
Ald MYZE HEHFH JHISA
6,000,000& *98.92% 5,936
a4 HEME2FY SE2SA
23,000,000& *98.92% 22,752
SE ot FZHISA 12,000, 000& *98.92% 11,871
ARl o1 OIAREETA
10,000, 000& *98.92% 9,892
2o ot OtAZEZE I AL
45,000, 000& *98.92% 44,514
OO0l 250,271
30t BEEHISAM
15,000,000 *98.92% 14,838
s &+ OtAZZEZSA
16,000,000 *98.92% 15,828
ME ot OtAZZEZ A
12,000,000 *98.92% 11,871
el otd OtAZEEHIAL
20,000,000& *98.92% 19,784
UE ML OtAZEEZSA
20,000,000 *98.92% 19,784
HE 0L OIAREZZA
10,000,000 *98.92% 9,892




fAMN: ANASA
A NEHY
el XA 2e]

SA- - H2A(3A) - MM - BES Ofl &F 4

ZS 012 OIA2ZH B A

12,000, 0002 *98.92% 11,871
SOl 22 OLAREH T A

20,000, 0002 *98.92% 19,784
Ha ot OLAREH T AL

20,000, 0002 *98.92% 19,784
YE 0L OIAREHTA

10,000, 0002l *98.92% 9,892
S o4 OtAREH T A

20,000, 0002! *98.92% 19,784
WR o2 OLAREE T A

20,000, 0002 *98.92% 19,784
FY oY OIABEITBA

16,000, 0002l *98.92% 15,828
HE 012 OIABEIBA

12,000, 0002 *98.92% 11,871
SE 02 OIAREFTA

20,000, 0002 *98.92% 19,784
HE o2 OtARZE T A

10,000, 0002! *98.92% 9,892

Oolge 187,948

AIE o2 BHIBA 15,000,000 <98.92% 14,838
5t HHAE FHIBA

15,000, 0002l *98.92% 14,838
=2 o2 FUIZBA 20,000,000 «98.92% 19,784
S2 o2 FHIZBA 15,000,000 98.92% 14,838
08 MSAE HXBA

15,000,0002! *98.92% 14,838
A2 BB ZHBA

10,000, 0002l *98.92% 9,892
SF 2R BEBA

10,000, 0002l *98.92% 9,892
Gy FBY FHIZA

10,000, 0008l *98.92% 9,892
Tel orZ HHIBA 25,000,000 «98.92% 24,730
TEREERELN- LN

20,000, 0002 *98.92% 19,784
Sa JtEAY HXBA

10,000, 0002 *98.92% 9,892
HU DS YT FHIBA

25,000, 0002 *98.92% 24,730

Ootg e 132,554

OF] o2 A=A 10,000,0008 *98.92% 9,892
S 42 FHIZ A 7,000,000 +98.92% 6.925
S04 92 FHIZA 12,000,000 «98.92% 11,871
Q4 JtEdY HXBA

10,000, 0002l *98.92% 9,892
A4 o2 ETA 5,000,000 «98.92% 4,946
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T4 ot FHIZSAE 25,000,000 *98.92% 24,730
SE DY EE U BALKBA

25,000,000& *98.92% 24,730
=35 42 dEHESA
20,000,000& *98.92% 19,784
Ols &+ A=A 20,000,000& x98.92% 19,784
O&tl e 301,706
S| ot OtAZZEZ A
20,000,000& *98.92% 19,784
HE ot OtAZEEIA
20,000,000& *98.92% 19,784
s ot OtAZEZEIA
20,000,000& *98.92% 19,784
gt ot OtAZ ZH B A
10,000, 0002 *98.92% 9,892
e ot HHIBAL 20,000,000 *98.92% 19,784
2HE0E =L 3AM
30,000,000& *98.92% 29,676
Yo ot FHHIZB A 20,000,000 *98.92% 19,784
LHg ot Bi+=2 JHISA
20,000,000& *98.92% 19,784
F20I=5 =2 EXSAt
20,000,000& *98.92% 19,784
g otz FHIZAE 25,000,000 *98.92% 24,730
af st ot ZHIS AL 10,000, 000& *98.92% 9,892
o2 et =2 SIS A
20,000,000& *98.92% 19,784
St A=z JtEd Y XS A
15,000, 000& *98.92% 14,838
S A2 JtEY Y AXSA
10,000, 000& *98.92% 9,892
S& MYz JtEd Y EXSA
20,000,000& *98.92% 19,784
e MYZ IS Y AXSA
10,000, 000& *98.92% 9,892
Y Y=z JtEd g XS A
15,000, 000& *98.92% 14,838
Oo=es 31,656
Gioterz BXS&d ZHlSA
11,000, 0002 *98.92% 10,882
SIZ HNUSH ZHSA
10,000, 0002 *98.92% 9,892
ZS8E 242 ZTYIZA
11,000, 000& *98.92% 10,882
okLgs 96,942
CRMASTYT FF FHISA
50,000, 000& *98.92% 49,460
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L3S ot HETIAM
10,000, 000& *98.92% 9,892
L 26sS 2T ZEIAM
20,000,000& *98.92% 19,784
7S ot ZEIA
18,000, 000& *98.92% 17,806
o3s 150,361
=38 ¢t ZHISBA
30,000,000& *98.92% 29,676
=338 =52 MEZSA
11,000, 0002 *98.92% 10,882
=598 s&dZ StHEHISA
20,000,000& *98.92% 19,784
=398 ¢tZ ZHISA
30,000,000& *98.92% 29,676
FOHEHCIFY =2EHISA
36,000,000& *98.92% 35,612
=298 =X E =2 FHHI3A
9,000,000& *98.92% 8,903
TotEs QEZ IS HHIS A
16,000, 0002 *98.92% 15,828
O2&8s 113,758
s H0IHE SA
30,000,000& *98.92% 29,676
UHS OIAREHBA
15,000, 000& *98.92% 14,838
2H6E ot OLAZEZEAZ AL
10,000, 000& *98.92% 9,892
IS NUZ OtA2ZEHSA
10,000, 000& *98.92% 9,892
AHI0S 02 TEHTA
20,000,000& *98.92% 19,784
tHE0S =Y FHISA
30,000,000& *98.92% 29,676
OstnsE 267,084
uligral 2 Mo dotd X ZA
20,000,000& *98.92% 19,784
Ma tH=2 HbBlS At
20,000,000& *98.92% 19,784
s M2 ZHIA
40,000, 000& *98.92% 39,568
EX ¢Z 222 FEE3AM
70,000, 000& *98.92% 69,244
AHU OPAREHBA
80,000,000& *98.92% 79,136
EX o2 SHLEXSA
40,000, 000& *98.92% 39,568
OEss 239,388
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